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Answer.ALL q_uést_ions.__ -
PART A — (10 2=20 marks) N -
- L | Defiﬁe feedback facfbl; or feedback rét_i.o._' | o
I, 2. ._'._V:Vhat is Nyquist di'a._grém?. B |

| 3 - Why RC phéjé,e shift is needed in a RC phase shift Oscillator? . B

" Time: Three hours -~ R - Maximum : 100 marks

( ( } o g Na_mé any one lo_“ffrequency and hi_gij frec-qﬁelnc.y ost:'i__llla_t(_;;_'.._ .. '.
. 5. What areA the ch.ar'acteris.tit.:s of aﬁ_ideal tuned ampli_fitf:r?- _ |
e _ What_are 'advalifages of.d;J.ul-ol-e tuned amphﬁel &er_ smgle __ﬁm.led émp_iiﬁer_?
g _. L - 7. Name two nléthoas of triggeﬂng for bistab’le’ multivibrators.

L SRR 8. What is meant by Hysteresis voltage in a Schmitt trigger?
9. What is blocking oscillator? Why it is so called? 7

10.  What do you mean by linear tiine base gen_erafor?




With neat circuit diagram explain monostable blocking oscillator with
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- PARPB-—(5X13 65 marks) 15. (a) ) , die
U ) K : base and emitter timing. Draw necessary waveforms.
11. (@ (@) The emitter follower circuit in Fig. 1 has R, =600Q, R, =2KQ, B S '
'  hfe = 80 and hie = 5 KQ. Calculate 4;, By, 4,,R, and R, a ., ’ Or
: . _ o ;t*Ve.c : . - (h) Explain how UJT cireuit is used for generating sweep output Also derive
S I T R _the explessmn f01 sweep penod and flequency
Ce ; b 7 : PARTC#(IX 15—15 marks)
. . 16. (a) (i) A voltage series negative feedback amplifier has a voltage galn
o RS _ ‘:’—7\ ‘without feed back A = 500, input resistance R;=3KQ, output
v Ra Re =R Vo A ‘resistance R, ZOK Q and feed back ratio §=0. 01. Calculate the
a4 T _E “ J’ ' - voltage gain A,, input resistance Rir and output 1es_1sta1_1ce Rt of
_ + . . : the amplifier with feedback. _ - o “(6)
e R, . (i)  For the circuit shown in Fig. 2, ' '
. Fig =17 S _ ( - . (1) Sketch the output wavefonn 1f V,=6v and V, = 8v.
() Dlaw the block dlaglam of shunt-shunt feedback conﬁgulatlon of DRTRAS (2) Sketch the output wavefmm if V V = IOV -'
an amphﬁer and comment on 1ts input and out ut resistance witl T . e SR : '
feedback e p put x sistance w 1(3; T o (3) qketch the output for the 1nput tuangulm wave of peak value R
_ (b) ‘ Derlve the expressmn f01 fmdmg the output 1e51stances of voltage series
- and current series feedback. _ :
12. (a). With neat circuit d1agram explam W1en budge oscﬂlator % .
" . . ) . . Or . . &' \,JG_
. (b) () Discuss the 151'incip1e of oseillation_ in .e_};ystals. and draw the 1
- : _equivalent circuit, impedance frequency graph of crystals and give N/
expression for its series and palallel frequencies. ~ -~ (10) o
-(ii) State and explam the factms that contubute to change i in change in B R _Fig. -
S -flequency of oscillations. o : : - (3) s ( ) . oo
13. (a) Discuss the effects of cascadm sin le tuned amplifiers b d widt RN ' - o '
— : g g p 1ers on band wi h ‘) (G A tuned collector. oscillator in vadio receiver has a fixed
. . : ~Or. = ' - . _ g “inductance of 607 H and hasto be "ﬁable"over"the*frequency-bahd :
(b W Expiam Class-C tuned ampl1f1e1 and deuve its efficiency. g (10) " of 400 to 1200 kHz. Find the range of variable capacitor. (5)
' T - @), Ina Colpltts oscﬂlatm the values of the inductors.and capacitors in
L (i) Mention the apphcatlons of Class C tuned amphﬁel o (3) ' the tank circuit are L = 40 mH, Ci =100 pF and C2= 50{) pF.
14. (a) Design a symmetric collector coupled astable multwlbz ator to generate a (1) Find the frequency of oscillations. 7
_ square wave of 10 kHz having peak to peak amplitude of 10 v, where 3 . (2) Ifthe output voltage is 10 V, find the feedback voltage.
Iy min =30, VCF(sa!) =0.2v, and IC(sat) —2’"‘4 ' (3) Find the minimum gain, 1f the fzequency is' changed. by
O : "~ changing L alone.
) : : (4) Find the value of Cifor a gain of 10.
(b) Giving civeuit detaﬂs .explain the opelatlon of a sclnmtt trigger using (5) Also, find the new frequency. ' o (10)
transistors. Show how" schnntt tngger can be used for wave shaping o R -
7 pulpose :
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